Present tense:

SUBJUNCTIVE ACTIVE:

Conjugation 1st 2nd 3rd 3io 4th
0, are eo, ére 0, ere i0, ere io, Tre

I em eam am iam iam

You (sg) és eas as ias ias

he/shelit/they (sg) | et eat at iat iat

we émus eamus amus iamus iamus

You all/you (pl) étis eatis atis iatis iatis

They (pl) ent eant ant iant iant
Imperfect:

Conjugation 1st 2nd 3rd 3io 4th

0, are eo, ére 0, ere io, ere io, Tre

I arem érem erem erem Trem

You (sg) arés erés erés erés rés

he/shelit/they (sg) aret éret eret eret Tret

we arémus érémus erémus erémus Trémus

You all/lyou (pl) arétis eérétis erétis erétis Trétis

They (pl) arent érent erent erent Trent
Perfect tense:

USE 3rd Principle Part!!!

I erim we erimus

You (sg) eris You all/you (pl) erttis

he/shelit/they (sg) erit They (pl) erint
Pluperfect:

USE 3rd Principle Part!!!

I issem we issémus

You (sg) issés You all/lyou (pl) isséetis

he/she/it/they (sg) isset They (pl) issent




Present tense:

SUBJUNCTIVE PASSIVE:

Conjugation 1st 2nd 3rd 3io 4th
0, are eo, ére 0, ere i0, ere io, Tre

I er ear ar iar iar

You (sg) éris earis aris iaris iaris

he/shelit/they (sg) | étur eatur atur iatur iatur

we émur eamur amur iamur iamur

You all/you (pl) emini eaminit amint iamint iaminTt

They (pl) entur eantur antur iantur iantur
Imperfect:

Conjugation 1st 2nd 3rd 3io 4th

0, are eo, ére 0, ere io, ere io, Tre

I arer érer erer erer Trer

You (sg) areris eréris eréris eréris Tréris

he/shelit/they (sg) arétur erétur erétur erétur Trétur

we aremur eremur erémur erémur Trémur

You all/lyou (pl) arémini erémini erémini erémini rémint

They (pl) arentur érentur erentur erentur Trentur
Perfect tense:

USE 4th Principle Part!!!

I sim we simus

You (sg) sis You all/you (pl) sitis

he/shelit/they (sg) sit They (pl) sint
Pluperfect:

USE 4th Principle Part!!!

I essem we essémus

You (sg) esses You all/lyou (pl) essétis

he/she/it/they (sg) esset They (pl) essent




